Tower(a) 01TA1l, inclusive ADC a01TA11
o [ Entries 1793874
10 = Mean 0.3771
F RMS 1.546
10 = Integral 1.794e+06
— X2 [ ndf 7.866e+04 /7
10 §_ Constant 1.093e+06 + 1541
F Mean 0.3209 + 0.0006
10 = Sigma 0.6224 + 0.0007
10 &
L

Tower(d) 01TA11, ADC, tag: UxV 2*thr | dO1TA1ll
— : Entries 144
el S I S Mean 17.61
14 e . S RMS 5.824
- ! Integral 143
12 N X2 I ndf 37.31/17
10 Fd b ] 3 VO X0 15.37 + 1388478.88
m | aL 11.11+ 1388478.88
Y e | B A sigL 9.364e+04 + 1
S U SO N Y S S A SigG ___2.82+1388478.88
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Tower(a) 01TB11, inclusive ADC a01TB11

o [ : Entries 1793874
W gy — Mean 0.3281
. F RMS 1.833
107 meeeeffireemmereeeee e Integral 1.794e+06
= X2 / ndf 1.266e+05 /5
10° ==+ 1 """""""""" o Constant 1.13e+06 + 1718
. — Mean 0.2911+ 0.0006
107 =y IH“LL -------------------------------------------- Sigma 0.584 + 0.001
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Tower(d) 01TB11, ADC, tag: UxV 2*thr | d01TB11

: Entries 126
16 Mean 19.9
14 RMS 7.755
— Integral 124
12 X2 / ndf 4.918/11
10 17.78+ 2.18
11.57+1.48
8 2.763+ 6.094
______________________________________________ 7,638+ 2.090
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Tower(a) 01TC11, inclusive ADC a01TC11
Entries 1793874
6 i
O E Mean 0.3493
R T e RMS 1.695
10 E ' ' ' ] Integral 1.794e+06
C X2 [ ndf 1.142e+05/ 8
W ey Constant 6.836e+05 + 775
. F Mean 0.2412 = 0.0008
10 = Sigma _ 0.9746 + 0.0008
10? ,;_ .......................................................................................................................... ........................
) OO BRSO B i Y AIORS S S
L O O s | W o T O L
40 60 100 120
ADC-ped
Tower(d) 01TC11, ADC, tag: UxV 2*thr | d0l1TC11
— : Entries 123
14 Mean 19.69
15 RMS 8.985
Integral 120
10 x? I ndf 11.54 /21
x0 17.51+0.48
8 aL 9.089+ 1.275
sigL 2.246e+04 + 18914
6 sigG | 3.53 +0.50
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Tower(a) 01TD11, inclusive ADC

10°

| I IIIIIII| I IIIIIﬂ] I IIIIIH]: I IIIIIII|J> I IIIIIII| I IIIIIH|_

a01TD11
Entries 1793874
Mean 0.1712
RMS 1.683
Integral 1.794e+06
X2 [ ndf 1.801e+05/ 8
Constant 6.733e+05 + 805
Mean 0.05286 + 0.00087

10° Sigma 0.9506 + 0.0009
102 |- feerd e e BT ................................................
Y S O e oo TRV SO AR
. ] O o O
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ADC-ped
Tower(d) 01TD11 , ADC, tag: UxV 2*thr d0ol1TD11
Entries 126
12 Mean 17.58
RMS 6.994
10 Integral 123
x? I ndf 8.06 /16
8 x0 15.79+ 0.52

aL
sigL

9.356+ 1.379
3.789e+04 + 35251

sigG

3.843 + 0.507
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Tower(a) 01TE11l, inclusive ADC a0O1TE11
10f Entries 1793874
= Mean 0.02321
. RMS 1.533
10 E Integral 1.794e+06
E X2 [ ndf 1.756e+05 /7
e Constant 9.925e+05+ 1448
s Mean -0.06043 £ 0.00105
10" Sigma 0.6469 = 0.0008
102 i R SR R L ] e ........................
T T —— E—
L L L |
100 120
ADC-ped
d01TE1l
Entries 130
Mean 18.42
RMS 7.212
Integral 130
x? I ndf 27.53 /20
x0 16.57 £ 0.65
aL 7.371+1.714
sigL 1.097e+05 + 31303

4.283+ 1.282

ADC-ped



Tower(a) 02TA1l, inclusive ADC a02TA11

o Entries 1793874
e | Mean 0.2186
F RMS 1.533
W0 e Integral 1.794e+06
- x? I ndf 7.993e+04 / 7
10 = L Constant 1.151e+06 + 1576
F Mean 0.1623 £ 0.0006
10 = Sigma 0.5906 + 0.0007
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Tower(d) 02TA11, ADC, tag: UxV 2*thr | d02TA1l

— : Entries 136
14 © Mean 19.39
1 RMS 7.912
Integral 134
10 x? I ndf 18.88/15
x0 16.83+0.48
8 aL 9.778 £ 1.392
sigL 1.08e+05+ 1
6 sigG 3.491i 0.449




Tower(a) 02TB11, inclusive ADC a02TB11
¢ [ Entries 1793874
10 E Mean 0.08723
 F RMS 1.612
107 e Integral 1.794e+06
F X2 / ndf 1.534e+05/8
100 Constant 9.129e+05 + 1258
F Mean 0.0198 = 0.0009
10 = Sigma 0.7128 + 0.0008
102 I;_ ...................................................................................................................................................
10/l S —
L 1Ty N i
80 100 120
ADC-ped
Tower(d) 02TB11, ADC, tag: UxV 2*thr | d02TB11
— : Entries 122
14 T Mean 19.72
19 bt i RMS 8.368
- | . Integral 120
10 e b . B SO x? I ndf 13.98/18
= J | X0 17.21+ 0.60
8 [— : aL 7.869+1.128
m sigL 3.04e+05 + 34717
6— 5 sigG | 4.388 + 0.622
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Tower(a) 02TC11, inclusive ADC a02TC11

ot Entries 1793874
= Mean 0.2908
s RMS 1.73
10 = Integral 1.794e+06
F x? I ndf 1.581e+05/8
0= Constant 8.583e+05 + 1541
F Mean 0.2217 + 0.0009
10 = _ 0.7555+0.0012

102 ;— ------------------------------------------------------------------------------------------------------------------------------ """"""""""""

10 sl E—
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100 120
ADC-ped
d02TC11

Entries 145
Mean 20.71
RMS 8.796
Integral 145
x? I ndf 19.51/16
x0 1791+ 0.34
aL 9.832+1.872
sigL 3.689e+04 + 1157962
sigG | 3.938+ 0.244
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Tower(a) 02TD11, inclusive ADC

10?
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f':
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RN ol

a02TD11
Entries 1793874
Mean 0.1237
RMS 1.622
Integral 1.794e+06
X2 [ ndf 1.534e+05/ 8
Constant 8.563e+05+ 1155
Mean 0.04972 £ 0.00090
Sigma 0.7598 + 0.0008

o

Tower(d) 02TD11 , ADC, tag: UxV 2*thr |
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doohono o
80

100 120
ADC-ped

d02TD11

18

16

14

12
10

8

Entries 121
Mean 17.81
RMS 7.89
Integral 120

x2 / ndf 26.02 /16
X0 15.71+ 0.87

aL 6.469 + 1.139
sigL 2.313e+05+ 163337

sigG _ 4.432+0.855




Tower(a) 02TE11, inclusive ADC a02TE11
o Entries 1793874
10 = Mean 0.5064
F RMS 1.615
10 = Integral 1.794e+06
— X2 [ ndf 8.648e+04 /7
10 §— Constant 1.016e+06 + 1481
F Mean 0.393+ 0.001
10 = Sigma _ 0.6662 + 0.0008
10 b
1

Tower(d) 02TE11 , ADC, tag: UxV 2*thr dO02TE11l
- Entries 98
12— Mean 21.97
Z RMS 10.65
10— Integral 08
- X2 / ndf 15.67 / 16
8 — X0 17.75 + 0.62
- aL 6.139+ 1.165
61— sigL 1.904e+04 + 33870
- sigG 3.811+ 0.775
B A (I S M e eeerrneeees
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Tower(a) 03TA1l, inclusive ADC a03TA11

F Entries 1793874
107 g Mean 0.3919
] — : : RMS 1.511
e T [ e o Integral 1.794e+06
— X2 [ ndf 6.999e+04 / 7
10" el o e Constant 1.26e+06 + 1572
~ : 5 Mean 0.3393 + 0.0005
10° = Sigma 0.5428 + 0.0005

102 N 0 R R L e B L R
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80 100 120
ADC-ped
Tower(d) 03TA1l1, ADC, tag: UxV 2*thr dO3TA1l

Entries 130
16 Mean 17.61
14 RMS 5.381
— Integral 130
12 x? I ndf 17.92/19
10 x0 16.87 £ 0.33
aL 13.38+1.64
8 sigL 2.095e+04 + 50326
sieG 2.403 £ 0.249
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Tower

10?

10

(@) 03TB11, inclusive ADC a03TB11
_____________________________________________________________________________________________ Entries 1793874
Mean 0.4852
RMS 1.821
"""""""""""""""""""""""""""""""""""""""""""""""""" Integral 1.794e+06
X2 [ ndf 1.991e+05/ 8
"""""""""""""""""""""""""""""""""""""""""""""""""""""""""" Constant 5.298e+05+ 619
Mean 0.3912 + 0.0010
""""""""""""""""""""""""""""""""""""""""""""""""""""""" Sigma
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e |

1.193+ 0.001
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ADC-ped
Tower(d) 03TB11, ADC, tag: UxV 2*thr | d03TB11

— : : — : Entries 152
IR P N [ AREREREEEEEEE [ I e S Mean 1967
RMS 8.879
Integral 151
X2 I ndf 11.89 /22
16.47 + 0.57

9.853+1.379
2.711e+04 + 10464

..........................................

4.359 £ 0.726

.....................................




Tower(a) 03TC11, inclusive ADC a03TC11
108 = Entries 1793874
= Mean 0.1158

] — RMS

107 Integral 1.794e+06
T X? / ndf 2.093e+05/ 8

10 =" Constant 6.627e+05 + 830
. — Mean 0.01776 + 0.00101

10 = Sigma _0.9481+ 0.0009

100 L ' ' '

10 &
1

Tower(d) 03TC11, ADC, tag: UxV 2*thr do3TC11

— Entries

16 E— Mean
= RMS

14 Integral

1 - X2 / ndf 21.54/16
— x0 14.76 + 0.31

10 alL 14.26 + 1.87

gl sigL 2.606e+04 + 31933
- sigG 2.126 + 0.263
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Tower(a) 03TD11, inclusive ADC a03TD11

o [ Entries 1793874
107 E Mean 0.2141
 F RMS 1.579
Y E Integral 1.794e+06
F X2 [ ndf 1.134e+05/ 8
107 e Constant 8.776e+05+ 1155
F Mean 0.1403 + 0.0008
10 = Sigma _ 0.7596 + 0.0008
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Tower(d) 03TD11, ADC, tag: UxV 2*thr d03TD11

— Entries 120
- Mean 17.74
e RMS 5.658
12 — Integral 117
— x? I ndf 17.37 1 17
10 — x0 16.05+ 0.39
8 - aL 1145+ 1.77
~ sigL 5.955e+04 + 33405
6 sigG_ _ 2.631+0.418
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Tower(a) 03TE11l, inclusive ADC

10?

10
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a03TE11
Entries 1793874
Mean 0.07249
RMS 1.767
Integral 1.794e+06
X2 [ ndf 1.854e+05/ 8
Constant 6.613e+05+ 779
Mean -0.04693 £ 0.00092
Sigma 0.9645 £ 0.0008

00 o o

60

12

10

80 100 120
ADC-ped
dO3TE11

Entries 121
Mean 20.64
RMS 8.24
Integral 118
x? I ndf 10.39/ 17
x0 17.93+0.52
aL 8.711+ 1.220
sigL 4.497e+04 + 87050
sigG 3.674 + 0.457
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Tower(a) 04TAL11 , inclusive ADC

10?

10

l IIIIIIH]: IIIIIIH! IIIIIIH]: IIIIIIII! IIIIIIﬂ] IIIIII[I]_

.........................................................................................

........................................

a04TAl1l
Entries 1793874
Mean 0.05319
RMS 1.536
Integral 1.794e+06
X2 [ ndf 1.822e+05/7
Constant 1.25e+06 + 2186
Mean 0.09671+ 0.00078
Sigma 0.5116 + 0.0008

.....................................

...................

.........................................................

0o

d04TA11
Entries 93
Mean 19.03
RMS 8.222
Integral 92
x? I ndf 9.014 /18
x0 17.16 £ 0.55
aL 7.038+ 1.242
sigL 6.291e+04 + 141825
sigG 3.597 + 0.581
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Tower(a) 04TB11, inclusive ADC

10?

10
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a04TB11
Entries 1793874
Mean 0.2717
RMS 1.61
Integral 1.794e+06
X2 [ ndf 2.67e+04 /7
Constant 1.117e+06 + 1231
Mean 0.1727 £ 0.0005
Sigma 0.6275 £ 0.0005

......................................................................................................................................

Ul oo,
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ADC-ped
Tower(d) 04TB11, ADC, tag: UxV 2*thr do4TB11
— Entries 125
TSR TN AU 1 U0 O Mean 19.45
14r RMS 6.109
T e Y Integral 125
— x? I ndf 8.894 /19
10— x0 18.28 + 0.45
8 - aL 10.28 £+ 1.37
— sigL 1.508e+05 + 69010
6 sigG_ 3.504+ 0.425
e N - e E P B e e i i,
7 R N 1 A S B St S A o
0 : 1 i |_| 1 |_| 1 i 1 1 1 1 |
=10 40 50 60




Tower(a) 04TC11, inclusive ADC a04TC11

108 = Entries 1793874
= Mean -0.02709
10° L RMS 1.64
= Integral 1.794e+06
N X2 / ndf 1.15e+05/7
- Constant 9.108e+05 + 995
. F Mean -0.1439 + 0.0007
107 e Sigma _0.7312+0.0006

10? .;— ' ' '

10 =
1
ADC-ped
Tower(d) 04TC11, ADC, tag: UxV 2*thr do4TC11

- : Entries 114
- Mean 17.96
e RMS 6.274
0 - Integral 113
- X2 / ndf 18.52 /18
o X0 16.43+0.39
- aL 10.64 + 1.63
6 sigL 1.654e+04 = 18111
= sigG_ _ 2.647+0.420
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Tower(a) 04TD11, inclusive ADC

a04TD11

Entries

Mean
RMS
Integral
X2 [ ndf
Constant
Mean

1793874

0.3537

1.492

1.794e+06
5.577e+04 /7
1.198e+06 + 1518
0.2758 + 0.0005

Sigma

N

0.5754 + 0.0006

10

80

100 120
ADC-ped

d04TD11

Entries
Mean
RMS
Integral
x? I ndf
x0

aL

101
19.02
8.953

99

12.78 1 15
1494 +0.17

10.26 + 0.82
1.927e+04 + 148604
2.211+ 0.189
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Tower(a) 04TE11, inclusive ADC

10*

10

10?

10
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— N :
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a04TE11
Entries 1793874
Mean 0.5508
RMS 1.504
Integral 1.794e+06
X2 [ ndf 5.785e+04 | 7
Constant 1.262e+06 + 1520
Mean 0.4555 + 0.0005
Sigma 0.5458 + 0.0005

18
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8
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ADC-ped
Tower(d) O4TE11, ADC, tag: UxV 2*thr | dO4TE1L
= : Entries 131
=H I Mean 19.95
R S B RMS 9.489
S S N A NI Integral 130
= x2 | ndf 16.98 / 17
e S x0 16.96 + 0.28
— aL 8.217 + 7.352
— sigL 4.51e+04 + 81081272
= sigG 4.399 + 0.626




Tower(a) 05TA1l, inclusive ADC aO5TA11
S o s S S — Entries 1793874
= Mean -0.03275
- RMS 1.598
10 = 1 Integral 1.794e+06
T X? / ndf 2.542e+05 /7
W B Constant 9.351e+05+ 1511
F Mean -0.1447 + 0.0014
10 = Sigma _0.6529 + 0.0009
100 L ' ' '
10 =
1

Tower(d) 05TA11, ADC, tag: UxV 2*thr | dO5TA11

Entries 113
Mean 20.2
RMS 7.715
Integral 112

x2 / ndf 35.93/18
16.85 + 0.84

5.511+ 1.187
2.61e+04 + 37083

4.504 + 1.136




Tower(a) 05TB11, inclusive ADC a05TB11

o [ Entries 1793874
et =S | S Mean 0.3885
. F RMS 1.454
100 g Integral 1.794e+06
= X2 / ndf 1.329e+05/ 8
| A S Constant 1.119e+06 + 1657
F Mean 0.3716 = 0.0005
100 g '''''''''''''''''''''''''''''''''''''''''''''''''''''''''' Sigma | 0.5887 + Q.OOO?

102 ;? . .............................................................................................................................................

10 ;— R e 1 e R S

1 _—-I— Ol ol .—.-.—o—.-r-.-.—o-.-----l—. ------------------ I- ---------- v—lJr—IﬂlJ-L ”—0 J-L—.l -------------------- .-l

Tower(d) 05TB11, ADC, tag: UxV 2*thr

16

14 —

12

10

8

e )

100 120
ADC-ped
d05TB11

Entries 132
Mean 17.36
RMS 7.406
Integral 132
x? I ndf 18.22 /14
x0 14.02 £ 0.36
aL 12.13+1.66
sigL 1.109e+05 + 39024
sigG 2.547 £ 0.295

.........................................................................




Tower(a) 0O5TC11, inclusive ADC

10?

10
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...................................................................................................................................................
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a05TC11
Entries 1793874
Mean -0.003919
RMS 1.78
Integral 1.794e+06
X2 [ ndf 2.03e+05/8
Constant 7.008e+05 + 853
Mean -0.1242 + 0.0010

0.9002 + 0.0008

ol

14 -
12

10

.........................................................................

100 120
ADC-ped
d05TC11

Entries 150
Mean 20.26
RMS 7.464
Integral 147
x? I ndf 22.79/ 21
18.41+ 0.47
10.81+ 1.46
3.726e+04 + 145017

3.406 + 0.440
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Tower(a) 05TD11, inclusive ADC a05TD11
6 Entries 1793874
10" Mean 0.2922
] — RMS 1.552
107 Integral 1.794e+06
T X? / ndf 7.075e+04 / 7
10 = Constant 8.892e+05+ 1042
. — Mean 0.1697 + 0.0006
10 = Sigma _ 0.7688 + 0.0007
T ' ' '
10 =~
1.

ADC-ped
Tower(d) 05TD11, ADC, tag: UxV 2*thr dO5TD11

— Entries 135
- Mean 17.67
4E RMS 7.321
12 Integral 132
— x? I ndf 10.98 /17
10— x0 15.73+ 0.52
o = aL 9.708 + 1.296
= sigL 2.248e+04 + 41759
6 sigG_ _3.999+0.528

T e
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Tower(a) O5TE11, inclusive ADC

10?

10

| IIIIIIII| IIIIIIﬂ] IIIIII[I]: IIIIIIII! IIIIIIﬂ] IIIIIIH|_

...............................................................................................................................................

a05TE11
Entries 1793874
Mean 0.4372
RMS 1.547
Integral 1.794e+06
X2 [ ndf 1.311e+05/7
Constant 8.19e+05+ 1255
Mean 0.3383 + 0.0007

Sigma 0.8054 + 0.0011

.an_.ﬁ.ﬂ .......... l .............. o l

14

12

10

.........................................

100 120
ADC-ped
dO5TE11
Entries 120
Mean 17.69
RMS 5.977
Integral 119
x? I ndf 11.05/18
x0 16.09 £ 0.37
aL 11.88+1.61
sigL 8.954e+04 + 47523

sigG

.......................................................................................

2.675+ 0.310

ADC-ped




Tower(a) 06TAL1l, inclusive ADC

10?

10

| IIIIIIﬂ] IIIIIIﬂ] IIIIIIH! IIIIIIH| IIIIIIII| IIIIIIH|_

...........................................................................................

a06TAl1l
Entries 1793874
Mean -0.03493
RMS 1.721
Integral 1.794e+06
X2 [ ndf 1.767e+05/ 8
Constant 7.796e+05 + 854
Mean -0.1707 £ 0.0009
Sigma 0.8227 £ 0.0006

.........................................................................

Tower(d) 06TA1l, ADC, tag: UxV 2*thr |

100 120
ADC-ped
d06TA1ll

Entries 115
Mean 20.2
RMS 7.344
Integral 115
x? I ndf 13.41/16
x0 18.92+0.71
aL 6.984 + 0.984
S|gL 6.779e+04 + 160229

4. 968+ 0.725
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Tower(a) 06TB11, inclusive ADC

10*

10

10?

10

l IIIIIIH]: IIIIIIH! IIIIIIII| IIIIIIH| IIIIIIﬂ] IIIIIIH|_|'

........................................................................................

a06TB11
Entries 1793874
Mean 0.4923
RMS 1.572
Integral 1.794e+06
X2 [ ndf 8.707e+04 | 7
Constant 1.265e+06 + 1535
Mean 0.4408 + 0.0005
Sigma 0.5351+ 0.0005

. RO | S et N nﬁ .JlH.ITlH.ITIILI.Jl ................ i
40 100 120
ADC-ped
Tower(d) 06TB11, ADC, tag: UxV 2*thr | d06TB11

: Entries 137
20 Mean 19.25
18 RMS 7.225
16 Integral 137
14 x? I ndf 14.34/ 16
x0 16.8 + 0.3
12 al 14.49 + 2.19
10 sigL 1.911e+04 + 22144
8 sigG 2.392 + 0.373

6

.............................................................................




10?

10

Tower(a) 06TC11, inclusive ADC a06TC11
— Entries 1793874
= Mean 0.2398
= RMS 1.66
= Integral 1.794e+06
- X2 [ ndf 1.409e+05/ 8
= Constant 7.366e+05+ 894
— Mean 0.1271+ 0.0008
E Sigma 0.8901+ 0.0008

20
18
16
14
12
10

8
6

Tower(d) 06TC11, ADC, tag: UxV 2*thr do6TC11
— : Entries 155
= | Mean 18.61
— . RMS 7.233
= Integral 155
= E x? I ndf 25.97 /20
- | x0 16.64 + 0.59
== : aL 9.56+1.12
— : sigL 4.773e+04 + 86771
- ARTRAN sigG 4.474 + 0.495
- S W S A
= .0, .
10 40 50 60




Tower(a) 06TD11 , inclusive ADC a06TD11
Entries 1793874
6
E Mean -0.0001491
s RMS 1.439
W00 e iy Integral 1.794e+06
. X2 [ ndf 2.059e+05/ 8
Wy Constant 7.005e+05 + 806
. F Mean -0.1086 = 0.0009
0= Sigma _0.8999 + 0.0007
10? .;—
.
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40 60 100 120
ADC-ped
Tower(d) 06TD11 , ADC, tag: UxV 2*thr | do6TD11
25 : : e : Entries 155
: : L : Mean 14.78
RMS 7.598
20 Integral 155
x? I ndf 11.4/16
15 x0 12.91+0.30
aL 15.91+1.90
sigL 3.018+1.783
10 sigG_ _ 2.678+0.288
B e N
0 I_!—l |_| | 1 |_|—| 1 |_| 1 m 1 | 1 |_| 1 1 |

ADC-ped



Tower(a) 06TE11 , inclusive ADC a06TE11
o [ Entries 1793874
10 = | Mean 0.1938
P RMS 1.464
10 = Integral 1.794e+06
F X2 / ndf 7.596e+04 / 8
W0 e Constant 1.099e+06 + 1427
F Mean 0.1327 + 0.0006
10 = Sigma _0.6204 + 0.0007
10? .;— --------------------------------------------------------------------------------------------------------------------- o]
10 ;—J L1 i
L [ L
100 120

ADC-ped

dO6TE11

10 [ R .

Entries 99
Mean 18.99

RMS 8.361
Integral 98

x2 / ndf 12.47 /16
X0 14.74 +0.18

al 9.268 + 9.151
sigL 2.257e+05 + 34233568
sigG 2.548 + 0.411

.............................................................................




Tower(a) 07TAL1l, inclusive ADC

10?

10

l IIIIIIH]: IIIIIIH! IIIIIIII! IIIIIIﬂ] IIIIIIH| IIIIIIH|_

...........................................................................................

I N [ T o

a07TAl1l
Entries 1793874
Mean 0.5337
RMS 1.466
Integral 1.794e+06
X2 [ ndf 9.438e+04 / 7
Constant 1.049e+06 + 1518
Mean 0.4144 + 0.0005
Sigma 0.643 £ 0.001

.........................

..............................................................

80 100 120
ADC-ped
Tower(d) 07TA11, ADC, tag: UxV 2*thr | dO7TA1l

= : Entries 99
o TR I Mean 18.64
S S U IO SO 4 N SO RMS 9.009
- Integral 08
10 e b x? I ndf 17.13/18
— x0 17.11+0.58
— aL 6.493 = 0.940
= sigL 3.31e+04 + 1
— sigG | 4.011+ 0.694




Tower(a) 07TB11 , inclusive ADC a07TB11
o [ Entries 1793874
= | S S B Mean 0.396
F RMS 1.675
100 | Integral 1.794e+06
— X2 [ ndf 1.523e+05 /7
10 S | e A Constant 1.116e+06 + 1657
3 — Mean 0.3758 = 0.0005
10" Sigma | 0.583 + 0.001
102 ;? ............................................................................................................................................
10 - e P e e |
1 _—-I- ol - ”—J”-!-l-.—.l-.—u --------------- .-L ------------- ’-LI—HHFI-I-H-—. ----- I-I|-L ------ S BT l
40 80 100 120
ADC-ped
Tower(d) 07TB11, ADC, tag: UxV 2*thr | dO07TB11
— : Entries 148
14 Mean 21.26
15 RMS 8.965
Integral 143
10 x? I ndf 12.67 /19
x0 18.97 £ 0.53
8 aL 9.454 £ 1.195
sigL 1.421e+05+ 199655
6 sigG | | 4.189 + 0.487
ab N T
- S 5 4 [ R S I N [ 1 e
0 |_| i 1 m 1 1 i |_| |_| 1 1 |T
. 40 50 60

ADC-ped




Tower(a) 07TC11 , inclusive ADC a07TC11

Entries 1793874
Mean 0.2212
RMS 1.604
Integral 1.794e+06
X2 [ ndf 8.601e+04 / 7
Constant 1.342e+06+ 1778
Mean 0.1758 £ 0.0005

10*

10

Sigma _0.5046 + 0.0005

10?

Al LT Aol

10 :
40 60 80 100 120

l IIIIIIII! IIIIII[I]: IIIIIIII! IIIIIIH]: IIIIII[I]: IIIIIIH]_\

I
j S e AL AL L L

Tower(d) 07TC11, ADC, tag: UxV 2*thr | dOo7TC11

Entries 241
Mean 18.56
RMS 8.73
Integral 237

x2 / ndf 25.67 /21
X0 16.78 + 0.46

aL 14.26 + 1.41
sigL 26.56 + 261.62

25

20

15

10

sigG_ _ 4.297+0.385




Tower(a) 07TD11, inclusive ADC

10?

10

.............................................................................................

[ TTT IIIIIIﬂ] IIIIIIﬂ] IIIIIIII| IIIIIIII| IIIIIIH|_

a07TD11
Entries 1793874
Mean 0.172
RMS 1.763
Integral 1.794e+06
X2 [ ndf 2.1e+05/8
Constant 5.912e+05+ 791
Mean 0.08951+ 0.00099
Sigma 1.062 + 0.001

.....................................................................................................................................................

.........................................................................................................................

| R W | T

100 120

ADC-ped
d07TD11
Entries 141
Mean 19.46
RMS 8.972
Integral 138
x? I ndf 14.3/18
x0 15.62 + 0.34
aL 12.64 + 1.07
sigL 2.163e+04 + 1
sigG 2.681+ 0.299

ADC-ped




Tower(a) 07TEL1l, inclusive ADC a07TE11

10° Entries 1793874
Mean 0.3776
] RMS 1.696
10 Integral 1.794e+06
. X2 [ ndf 1.56e+05/8
10 Constant 9.11e+05+ 1999
. Mean 0.3476 = 0.0008
10

Sigma _ 0.7128 + 0.0015

10?

10

| IIIIIIII| IIIIII[I]: IIIIII[I]: IIIIIIII! IIIIIIﬂ] IIIIIIH|_

ADC-ped
Tower(d) O7TE11 , ADC, tag: UxV 2*thr dO7TE1l

_ : Entries 150
16— Mean 21.24
14— RMS 8.607
= Integral 149
12 x? I ndf 14.61/21
= x0 18.2+0.4
— aL 12.76 £ 1.70
8 sigL 1.7e+04 + 14845
6 - sieG 2.974 £ 0.388

e FRIE 1 AL L S || I B R s IS RN

2 F- J -------------------------------------------

E. L0, 0.0,

-10 40 50 60




Tower(a) 08TALl, inclusive ADC a0OSTA11

. Entries 1793874
L | S Mean 0.4404
. RMS 1.652
107 i Integral 1.794e+06
5 5 5 X2 / ndf 6.088e+04 / 7
10" | S S Constant 1.225e+06 + 1532
3 ' ' ' Mean 0.3419 + 0.0005
10 Sigma _ 0.5612 + 0.0006

102 .................... .................... .................................................................................................

10 e e e A R

. T o O OO O

20
18

16

14
12
10

8
6

80 100 120
ADC-ped
d08TA1ll

Entries 226
Mean 194
RMS 8.392
Integral 221
x? I ndf 27.8/21
x0 18+ 0.6
aL 10.59+1.27
sigL 2.702e+06 + 44193

sigG_ 5.727 + 0.759




Tower(a) 08TB11, inclusive ADC al08TB11
] Entries 1793874
10" = Mean 10.03313
. — RMS 1.489
10 3 Integral 1.794e+06
F X2 I ndf 1.526e+05 /7
10 = Constant 1.094e+06 + 1384
. — Mean -0.1243 + 0.0009
10 = Sigma | 0.595+ 0.001
1o ' ' '
10 £
1.

Tower(d) 08TB11, ADC, tag: UxV 2*thr d0STB11

- Entries 123
- Mean 18.11
e RMS 8.626
12 Integral 121
— x? I ndf 12.94 /19
10 — x0 15.85+ 0.37
8 - aL 10.94+1.01
= sigL 2.553e+04 + 1
6 — sigG 2.686 + 0.283

s e R

oo 1N T il
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Tower(a) 08TC11, inclusive ADC

10?

10

l IIIIIIH]: IIIIIIH]: IIIIIIII! IIIIIIII| IIIIIIH]: IIIIIIH|_

a08TC11
Entries 1793874
Mean 0.2552
RMS 1.564
Integral 1.794e+06
X2 [ ndf 8.22e+04 / 7
Constant 1.162e+06+ 1618
Mean 0.1999 + 0.0006
Sigma 0.5844 + 0.0007

8 L O

0 20 40 60 80 100 120
ADC-ped
Tower(d) 08TC11, ADC, tag: UxV 2*thr | dosTC11
— : Entries 141
20 I Mean 19.19
e e RS 1 A S S RMS 7.478
1) ESSRUUPRIN SURUUUORRUUSOTN Ot SUSURPRUINN | NS SNSRI S Integral 140
7 OSSOSO DO USROS NSO X2 / ndf 27.39/19
- x0 16.79+ 0.60
= alL 9.274+ 1.516
10 = sigL 3.988e+04 + 44906
8 sigG_ _3.682+0.641
A A LR T —
e | o e e
T L e e
0 : 1 1 |_| 1 1 1 1 |_| 1 1 |_| 1 |
*10 40 50 60




Tower(a) 08TD11 , inclusive ADC a08TD11

o [ Entries 1793874
10 = Mean 0.07704
 F RMS 1.695
107 e Integral 1.794e+06
F x? I ndf 2.043e+05 /7
0= Constant 8.233e+05 + 1087
F Mean -0.03584 + 0.00097
10 = Sigma _ 0.7653 + 0.0008

10? ;— ------------------------------------------------------------------------------ """""""""""" R

0 T O = S S S— E—

1 _—-I- LHJ-LU-‘H-—.—IJ] l.—.—l—. ----------- .-.-l

100 120
ADC-ped
Tower(d) 08TD11, ADC, tag: UxV 2*thr | dosTD11

: Entries 141
16 Mean 19.54
14 RMS 8.44
— Integral 140
12 x? I ndf 17.34 /19
10 x0 16.72+0.33
aL 14.31+ 1.59
8 sigL 4.985e+04 + 1.0
5 s9G 2421+ 0.244

SO SO N SO0 I E OO SO0 OO OO SOPPUOS OO OOt

e i N —_ s
0 |_| 1 1 l_l 1 ’JI_‘ 1 i 1 1 1 1 H
J 40 50 60




Tower(a) 08TE11l, inclusive ADC

10?

10

| IIIIIIII| IIIIIIﬂ] IIIIIIﬂ] IIIIIIII| IIIIIIII| IIIIIIII|

a08TE11l
Entries 1793874
Mean 0.4028
RMS 1.695
Integral 1.794e+06
X2 [ ndf 9.395e+04 / 7
Constant 7.555e+05 + 907
Mean 0.3217 + 0.0008
Sigma 0.8923 + 0.0008

..............................................................................

""""" Lo JJL ﬁ HHJ_’J%I

18
16

14
12
10

60 80 100 120
ADC-ped
Tower(d) O8TE11, ADC, tag: UxV 2*thr dO8TE11
— Entries 214
bbb Mean 18.11
— RMS 9.546
e e I T I I Integral 212
e S A e X2 / ndf 26.62 /23
b s ] x0 16.58 £ 0.48
— aL 11.24+0.80
e AN e sigL 5.666e+04 + 1
e S ' [ A I Y AR sigG 4.296 + 0.490
3 —hfh om0
10 40 50 60

ADC-ped




Tower(a) 09TA1l, inclusive ADC a09TA11

. ; Entries 1793874
107 = Mean 0.4629
= RMS 1.452
10° = Integral 1.794e+06
— X2 [ ndf 5.673e+04 /7
10* == Constant 1.274e+06 + 1536
. — Mean 0.3994 = 0.0005
10" - Sigma | 0.541+ 0.001

7o N 1 S5 O S S S —

10 .;— ---------------------------- ------------------------------------------------

1 _—-l-.— P EITP (S Y B I | ------ »|-|J-|4 -------- | ----------------------- I- ---------- -.-.-h—:l-l—ﬂ-h-.-.—r-.—.-i--.-.-[L ------------ Hl

80 100 120
ADC-ped
Tower(d) 09TA11 , ADC, tag: UxV 2*thr | d09TA1l

: Entries 121
12 Mean 18.37
RMS 6.897
10 Integral 121
x? I ndf 13.09/18
8 x0 17+ 0.5
aL 10.09+1.39
6 sigL 3.331e+04 + 27507
sigG | | 3.282 + 0.435

T eEEITERSI SNSRI TN N I USRI SORSISI IO WIS 1 [ SOOS SN SRR
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|_| 1 |_| i 1 1 |_| 1 |_| 1 1 1 1 i

40

50 60
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Tower(a) 09TB11, inclusive ADC a09TB11
100 ; ; Entries 1793874
= : : Mean -0.05031
JE RMS 1.695
10 E Integral 1.794e+06
. = X2 / ndf 1.892e+05/7
E Constant 9.233e+05+ 1019
F Mean -0.2013 + 0.0008
vE Sigma _0.6889+ 0.0005
10 -
=% 20 40 100 150
ADC-ped
Tower(d) 09TB11, ADC, tag: UxV 2*thr | d09TB11
: : Entries 173
16 Mean 19.16
14 . RMS 7.726
- Integral 170
12 T X2 / ndf 26.46 / 20
0 " X0 16.91+ 0.53
aL 10.7+1.3
8 sigL 4.579e+04 + 34929
5 s9G 43022 0.542
) SR SR/ RS O 13 O S E—
P EUPRNRE NS N — — S - R — S—
0 1 1 | 1 1 1 m i 1 |_| 1 |_| |
. 40 50 60




Tower(a) 09TC11, inclusive ADC

10?

10

| IIIIIIH]: IIIIIIﬂ] IIIIIIH]: IIIIIIII| IIIIIIII| IIIIIIH|_

..................................................................................................................................................

..........................................................................

a09TC11
Entries 1793874
Mean 0.0231
RMS 1.632
Integral 1.794e+06
X2 [ ndf 1.306e+05 /7
Constant 9.107e+05 + 962
Mean -0.08964 + 0.00071
Sigma 0.7243 + 0.0005

_EHF‘IJ_H ........ L

100 120
ADC-ped
Tower(d) 09TC11, ADC, tag: UxV 2*thr dooTC11
25 e Entries 247
Z Mean 16.67
— RMS 6.979

Integral 243
x? I ndf 28.58 /21
x0 15.76 £ 0.43
aL 14.87 + 1.52
sigL 3.663+ 2.874

sigG __ 4.548%0.525




Tower(a) 09TD11, inclusive ADC

10?

10

IIIIIIﬂ] IIIIIIﬂ] IIIIIIﬂ] IIIIIIII| IIIIIIﬂ] IIIIIIH|_

........................

.........................................................................................

a09TD11
Entries 1793874
Mean 0.515
RMS 1.726
Integral 1.794e+06
X2 [ ndf 1.017e+05/ 8
Constant 8.36e+05+ 1154
Mean 0.3901+ 0.0007

.................................................................................................................................................

0.8022 + 0.0009

Mﬂ_..Lﬁ. o]
100 120
ADC-ped
d09TD11

Entries 165
Mean 19.59
RMS 7.286
Integral 165
x? I ndf 21.34/ 19
x0 17.86 £ 0.56
aL 12.41+1.80
sigL 8.027e+04 + 86810
sigG 3.446 + 0.503




Tower(a) 09TE11, inclusive ADC a09TE11

6 Entries 1793874
10" Mean 0.0127
s RMS 1.657
10 = Integral 1.794e+06
. X2 [ ndf 2.047e+05/ 8
10 e Constant 6.999e+05 + 824
. F Mean -0.1031+ 0.0010
10 Sigma 0.9007 + 0.0008

1 ot - E— S— S— S—

X e e el i S— —

80 100 120
ADC-ped
Tower(d) 09TE11, ADC, tag: UxV 2*thr d09TE11l

— Entries 143
18 Mean 18.83
- RMS 7.179
16 — Integral 142
14 X2 / ndf 38.09 /20
py= x0 16.61+ 0.49
- aL 10.43+1.80
O siglL 1.807e+04 * 45121
8 - sigG_ 2.983+ 0.583

6 :_ .....................................

4 i LNl

2 :_ ...................................................................

0 : 1 | 1 | 1 | 1 1 |_| | 1 |_| 1 1 |_|
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Tower(a) 10TA1l, inclusive ADC alOTA1l

F Entries 1793874
10 = Mean 0.3417
F RMS 1.502
10" Integral 1.794e+06
— X2 / ndf 9.414e+04 | 7
10 E Constant 1.219e+06 + 1588
. — Mean 0.3295 + 0.0005
10° - Sigma _0.5535+ 0.0006

102 .;— .............................................................................................. ....................... ________________________

10 ;— ------------------------------------------------------------------ """""""""""" """"""""""""

1 _—-I- [I-I-I-I-AI-I—[{-I—M ------ l.—. ----------------- I—

80 100 120

ADC-ped

Tower(d) 10TA11l, ADC, tag: UxV 2*thr | d10TA11

— : Entries 116
14 [~ Mean 17.53
" RMS 5.872
Integral 115
10 X2 / ndf 15.3/19
x0 15.37+£0.39
8 aL 11.68+ 1.82
sigL 8.451e+04 + 18353
6 sigG | | 2.519+0.449

.................................................................................




Tower(a) 10TB11, inclusive ADC al0TB11

10° = Entries 1793874
- Mean 0.02289
s RMS 1.576
10 E Integral 1.794e+06
. X2 [ ndf 1.35e+05/7
W0 E Constant 9.899e+05+ 1170
 F Mean -0.08179 + 0.00079
10 e 0.6647 + 0.0006

10? ,;_ ...........................................................................................................................................

10 ;_ ____________________________________________________________________________

1 1| R

100 120
ADC-ped
Tower(d) 10TB11, ADC, tag: UxV 2*thr | d10TB11

— : : — : Entries 149
14 | | 7 | Mean 18.1
12 RMS 7.841
Integral 149
10 X2 / ndf 12.14/ 16
x0 16.49 £ 0.40
8 aL 12.31+1.44
sigL 3.057 £ 2.857
6 sigG | | 3.464 £ 0.404

=SSR SO ¢ AR SR N SRR S SR A—

S SERRNSEE S0 S W1 N 1 A— S

0 |_I—| 1 |_| 1 1 |_| 1 1 1 |_| |
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Tower(a) 10TC11, inclusive ADC

10?

10

! I IIIIIﬂ] I IIIIIﬂ] I IIIIIII| I IIIIIII|b I IIIIIII| I IIIII[I]_

al0TC11
Entries 1793874
Mean 0.2262
RMS 1.692
Integral 1.794e+06
X2 [ ndf 2.139e+05/ 8
Constant 7.061e+05+ 1124
Mean 0.1946 + 0.0011
Sigma 0.8871+ 0.0012

14

12

10

ADC-ped
d10TC11
Entries 154
Mean 17.84
RMS 6.53
Integral 154
x? I ndf 14.87 /19
x0 16.22 £ 0.41
aL 12.47 +1.38
sigL 9.942e+04 + 38619
sigG 3.463 + 0.315

ADC-ped




Tower(a) 10TD11, inclusive ADC aloTD11

o Entries 1793874
10 = Mean 0.2755
F RMS 1.511
107 Integral 1.794e+06
— X2 [ ndf 1.404e+05/ 8
100 Constant 1.068e+06 + 1861
F Mean 0.2793 + 0.0007
10 = Sigma 0.6143 + 0.0010

102 ;? .............................................................................................................................................

T 2 N TR A — S—— S——

1 _— ;-H”;J-I]—lrl-u—..-o—.ﬁﬁlﬁ-.—r ----------- l

80 100 120
ADC-ped
Tower(d) 10TD11, ADC, tag: UxV 2*thr | d10TD11

— : Entries 128
18 Mean 16.45
16 : : RMS 6.802
" Integral 128
x? I ndf 12.77 / 13
12 x0 14.24 + 0.43
10 5 .|| aL 11.6+1.8
. sigL 1.516e+04 + 26477
- [LsigG_ _3.201+0.546

6 Ty oo S e

! KSR I

z R e
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Tower(a) 10TE11, inclusive ADC alOTE1ll
——————————————— Entries 1793874
10 |§r Mean 0.1079
s [ RMS 1.604
10 = | Integral 1.794e+06
F X2 I ndf 1.09e+05/ 8
10 e Constant 8.849e+05 + 1032
. — Mean 0.006002 + 0.000744
10 = Sigma _ 0.7552 + 0.0007
100 L ' ' '
10 &
1 __-I—

ADC-ped
Tower(d) 10TE11 , ADC, tag: UxV 2*thr | d10TE11l
— : : : Entries 136
y e e Mean 18.53
= 1 RMS 7.638
[T E—— ...... Integral 134
- 1| %2/ ndf 5.452 / 18
10 v e e | x0 16.35+ 0.39
o I || aL 12.74 + 1.60
- .|| sigL 3143 + 33459.4
) A ...... SigG . . 2.9914_j 0.342
Y ER—— S | ¥ .....................................................................
R —— - — o0 PR — S—
0 [ 1 1 1 1 | 1 1 1 1 1 1 ‘—| |_i |_| |_| i |_| 1 |_| | |_| 1 1 1 |
*10 0 10 30 40 50 60




Tower(a) 11TA1l, inclusive ADC

10?

10

| IIIIIIH]: IIIIII[I]: IIIIIIII! IIIIIIII! IIIIIIH]: IIIIIIH]_

kb

allTAll
Entries 1793874
Mean 0.2051
RMS 1.561
Integral 1.794e+06
X2 [ ndf 1.012e+05/ 8
Constant 1.168e+06+ 1723
Mean 0.1731+ 0.0007
Sigma 0.5747 £ 0.0007

12

10 e L,

................................................................................................................................................

100 120
ADC-ped
d11TA1l1

Entries 108
Mean 18.94
RMS 8.891
Integral 106
x? I ndf 8.147 /15
x0 16.6 £ 0.5
aL 8.742+1.042
sigL 3.079e+05+ 1
sigG 3.448 + 0.406




Tower(a) 11TB11, inclusive ADC allTB11
o [ Entries 1793874
107 g Mean 0.446
- RMS 1.609
e R Integral 1.794e+06
F X2 [ ndf 1.476e+05/ 8
W00 iy Constant 8.226e+05 + 1400
F Mean 0.4068 £+ 0.0007
10 = Sigma _ 0.7937+0.0012
102 ;? .......................................................................................................................................................
10 ;— ------------------------------ oo -
L N |
80 100 120
ADC-ped
Tower(d) 11TB11, ADC, tag: UxV 2*thr d11TB11
— Entries 125
16— Mean 17.96
14 - RMS 8.157
- Integral 124
12 X? I ndf 18.18 /18
10— x0 15.36 + 0.45
- aL 11.51+1.62
8 — 1.889e+04 + 31681
S PO OO 0 I AU 1 OISO JOU | N1 A 2.711£0.418
g Fmereemdienbb bR
e B B N SRR SORRIRIURIURRRE
0 : 1 1 1 |_| 1 H H 1 1 1 |_| 1 1 |_| 1 |
“10 50 60
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Tower(a) 11TC11, inclusive ADC allTC11
e s ———————— Entries 1793874
% Mean 0.03477
s | RMS 1.708
10 = Integral 1.794e+06
F X2 I ndf 1.269e+05/ 8
10" e Constant 9.288e+05 + 1060
F Mean -0.08277 = 0.00077
10 = Sigma _ 0.7117+ 0.0006
10 - ' ' '
10 =
1 __-I—

.......................................................

12

10

d11TC11
Entries 118
Mean 20.89
RMS 7.522
Integral 117
x? I ndf 10.4 /15
x0 19.34+0.71
aL 7.798 + 1.076
sigL 6.202e+04 + 93350
sigG 4.886 + 0.740




Tower(a) 11TD11, inclusive ADC allTD11

S O S S S Entries 1793874
= Mean 0.4719
- RMS 1.571
107 Integral 1.794e+06
F X2 [ ndf 90.412e+04 | 7
e R Constant 9.337e+05 + 1390
F Mean 0.3902 + 0.0006
L e S S Sigma 0.722 + 0.001

102 =? ....................................................................................................................................................

10 :? '''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' """"""""""""

L Al R e B [ [ AL P O

40 60 80 100 120
ADC-ped
d11TD11

Entries 160
_____________________________ Mean 18.27
RMS 7.713
---------------------------- Integral 159
____________________________ x? I ndf 25.01/18
x0 15.23 + 0.40
"""""""""""""" aL 12.34+1.20
____________________________ sigL 1.668e+04 + 1
sigG 3.037 + 0.423
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Tower(a) 11TE11 , inclusive ADC allTE11

] Entries 1793874
10 = N e Mean 0.2344
s RMS 1.558
10 = Integral 1.794e+06
F x? I ndf 1.422e+05/ 8
10 = |y e Constant 9.056e+05 + 1509
F Mean 0.1967 + 0.0009
10 = Sigma _ 0.7235+0.0011

102 O O Ot TR e M ST ST SO .......................

T B T _—

B N [ RO " s e 4

40 60 80 100 120
ADC-ped
Tower(d) 11TE11, ADC, tag: UxV 2*thr | d11TE11l

— : Entries 116
14 © Mean 20.03
1 RMS 8.428
— Integral 116
10 x? I ndf 17.09/17
x0 16.13+0.87
8 aL 9.233+ 2.669
sigL 3.268e+04 + 24116

3.081+ 1.070




Tower(a) 12TA11l, inclusive ADC

10?

10

| IIIIIIII! IIIIIIH]: IIIIII[I]: IIIIIIII| IIIIIIH]: IIIIIIH]_

al2TAll
Entries 1793874
Mean 0.1392
RMS 1.648
Integral 1.794e+06
X2 [ ndf 1.076e+05 /7
Constant 1.142e+06 £ 1712
Mean 0.07552 £ 0.00080
Sigma 0.5857 £ 0.0008

Tower(d) 12TA11l, ADC, tag: UxV 2*thr |

d12TAl1l
Entries 106
Mean 19.4
RMS 7.156
Integral 105
X? I ndf 32.71/19
x0 16.55+0.70
aL 5.578+ 0.784
sigL 4.939e+04 + 1
sigG 4.062 + 0.609




Tower(a) 12TB11, inclusive ADC al2TB11

Entries 1793874
10° E; Mean 0.5847
~ RMS 1.649
10° = Integral 1.794e+06
= X2 | ndf 4.484e+04 | 7
10 = Constant 1.345e+06 + 1533
— Mean 0.4819 £ 0.0004
10 - 0.5154 + 0.0004

102 &=

KO S T | T | A S e A

1 N | N I

100 120
ADC-ped
Tower(d) 12TB11, ADC, tag: UxV 2*thr d12TB11

— : Entries 154
16— Mean 20.26
14 — RMS 7.468
- Integral 152
12— X2 / ndf 11.88/17
10 x0 17.78 £ 0.45
— aL 11.33+1.37
8 sigL 4.075e+05 + 219028
= sig6 3.752 £ 0.402
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Tower(a) 12TC11 , inclusive ADC al2TC11

—— Entries 1793874
10 |§r Mean 0.1807
- RMS 1.587
W00 g Integral 1.794e+06
F X? / ndf 1.936e+05/ 8
e Constant 6.384e+05+ 772
F Mean 0.09808 + 0.00095
10 = Sigma _0.9944 + 0.0009

102 .;— ....................................................................................................................................................
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80 100 120
ADC-ped
d12T7C11

Entries 126
T O O A Mean 15.9
D : RMS 6.804
_______ il Integrral 125
b 1| X2 /ndf 8.089 /16
B S N x0 14.07 £ 0.39
e ] alL 11.75+1.46
g 1\ || sigL 5.244e+04 + 23013
T4 O o sigG _2.991+0.395

|_| |_| |_| 1 1 |_| i |_| 1 |_| |_| i 1 1 1 1 i
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Tower(a) 12TD11, inclusive ADC
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al2TD11
Entries 1793874
Mean 0.1686
RMS 1.754
Integral 1.794e+06
X2 [ ndf 1.843e+05/ 8
Constant 7.135e+05 + 935
Mean 0.07715 % 0.00094
Sigma 0.8942 + 0.0009

100 120
ADC-ped
d127D11

Entries 120
Mean 19.62
RMS 7.283
Integral 118
x? I ndf 14.63/ 14
x0 17.77 £ 0.43
aL 10.63+1.54
sigL 7.513e+04 + 81664
sigG 2.874+ 0.373

ADC-ped



..................................................

...................................

3.935+ 0.623

Tower(a) 12TE11, inclusive ADC al2TE11
10° = Entries 1793874
= Mean 0.0365
s RMS 1.733
10 E Integral 1.794e+06
r X2 [ ndf 2.535e+05/ 8
10 e Constant 5.618e+05 + 637
. F Mean -0.08961+ 0.00111
10 = Sigma | 1.087 + 0.001
10? ,;_ ........................
10 |- T Bl T TR A IS S
ﬂ ------ -.—.-i-.-.—.-.—o—.-.—. ------------ l
1 100 120
ADC-ped
Tower(d) 12TE11 , ADC, tag: UxV 2*thr d12TE11l
— Entries 124
e Mean 19.48
1 RMS 8.789
- Integral 120
10 — x? I ndf 7.383 /14
— x0 16.32+ 0.62
8 [— aL 9.255+ 1.268
~ sigL 7.067 + 18.905
61— sigG




[MPV gated W/ MIP_|

5

mpv

Entries 10
Mean 16.67
RMS 0.8539
Underflow 0

Overflow 0
Integral 10

.15.

MPV of ADC-ped

mpvE

....................................................................................................................................................

Entries 10
Mean 0.04858
RMS 0.02863
Underflow 0
Overflow 1
Integral 9

0.3
err(MPV)/MPV




